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QUESTION 1

There are two BGP routes to 10.200.200.0/24 received from twoexternal peers. Route 1 comes from a neighbor with a
router ID of 10.10.100.1 and a peer IP address of 10.10.30.1, and route 2 comes from a neighbor with a router ID of 

10.10.200.1 and a peer IP address of 10.10.50.1. Both routes have the same MED value, origin value, AS path length,
and local preference number. 

In this scenario, which statement is correct about the active route? 

A. Route 1 will be active because of the peer IP address. 

B. Route 2 will be active because of the peer IP address. 

C. Route 1 will be active because of the router ID. 

D. Route 2 will be active because of the router ID. 

Correct Answer: C 

The router determines the router ID for each peer that advertised a path to the route destination. A lower router ID value
is preferred over a higher router ID value. 10. The router determines the peer ID for each peer that advertised a path to
the router destination. A lower peer ID value is preferred over a higher peer ID value. The peer ID is the IP address of
the established BGP peering session. 

 

QUESTION 2

You are asked to configure an802.1X solution that supports dynamic VLAN assignment. 

In this scenario, which two modes support using vendor-specific attributes (VSAs)? (Choose two.) 

A. static MAC bypass mode 

B. single-secure supplicant mode 

C. multiple supplicant mode 

D. singlesupplicant mode 

Correct Answer: BD 

https://www.juniper.net/documentation/us/en/software/junos/user-access/topics/concept/dynamic-vlan-assignment-
colorless-ports.html 

 

QUESTION 3

Referring to the exhibit, ServerA sends a single IP packet destined to 10.0.0.127. 

Which two statements correctly describe the behavior of the resulting outbound VXLAN packets that contain the original
packet destined to 10.0.0.127? (Choosetwo.) 
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A. Router E will replicate and send a copy of the received VXLAN packet to router D. 

B. Router C will send a VXLAN packet destined only to router D and router E. 

C. Router D will not replicate and send a copy of the received VXLAN packet to routerE. 

D. Router C will send a single VXLAN packet to one remote VTEP. 

Correct Answer: AD 

 

QUESTION 4

Which three MSTP parameters must match on all switches in the same MST region? (Choose three.) 

A. forwarding delay 

B. bridge priority 

C. revision number 

D. MSTI-to-VLAN mapping 

E. configuration name 

Correct Answer: CDE 
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https://www.juniper.net/documentation/us/en/software/junos/stp-l2/topics/topic-map/spanning-tree-configuring-
mstp.html 

 

QUESTION 5

A BGP network has been designed to provide resiliency and redundancy to a multihomed customer network. 

Which two statements are correct in this scenario? (Choose two.) 

A. Both the next hops will be used to forward traffic to R2. 

B. A routing policy will be required to forward traffic to both next hops. 

C. The TTL value of 1 is set to limit the scope of the EBGP session. 
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D. The ttl statement must be configuredto accommodate peering to a loopback address of a directly connected peer. 

Correct Answer: BD 
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